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Question Number : 1 Question Id : 3666943021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Options :

3666949431 only (51) is true
3666949432,

3666949433 both (51) and (S2) are true

neither (S1) nor (S2) is true
3666949434,

Question Number : 1 Question Id : 3666943021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Online
Mandatory
20

20

80

Yes

0

1
366694166
Yes

null



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1

"fji I—'—I

T A TUTB 8| ol YAl

HAT 6T f(x) = , W81 [«] GAqH YUl > x B, & Uid aul UiER sHa:

(S1) : AnB=(1,)-N Tl

(52) : AuB=(l, »}

H
Options :
3666949431, hael (51) 9 8
Had (S2) T &
3666949432,

3666949433, G (S1) YT (52) ¥ §

a4l (s1) A8 (52) 9l
3666949434, SNAH (52 TR

Question Number : 2 Question Id : 3666943022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a group of 100 persons 75 speak English and 40 speak Hindi. Each person
speaks at least one of the two languages. If the number of persons, who speak
only English 1s @ and the number of persons who speak only Hindi 1s £, then

the eccentricity of the ellipse 25( Bx® +a” _},z) =a’p is

Options:

3
'-~'||

3666949435, 12



3666949436, 12

3666949437, !

3666949438. =

Question Number : 2 Question Id : 3666943022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

100 AfdTdl & U g 75 ol dleid @ ayl 40 &dl didd 81 v fed
3 31 W1l § ¥ & 9 & U dadl o | 3G dad il diaq ard fdad]
1 W@ ¢ qY1 Had fgc] dia- a1d safdaal &) ¥8 g 8, d ddga

EE(ﬁ:’jx"" + czgf) =’ HIIFwd g

Options :
JI17
3666949435, 12

|2

3666949436, 12

i,
[ &1
=1

[
]

3666949437

3666949438.



Question Number : 3 Question Id : 3666943023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let a=b be two non-zero real numbers. Then the number of elements in the

set X=1{2eC :Re (ﬂrz2 +hz.] =a and Re(hzg +az.] =b}is equal to

Options :
3666949439, ©
3666949440, 1
3666949441, 2
3
3666949442.

Question Number : 3 Question Id : 3666943023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A a=b & YA dRdfdd G&IMU g1 & 9= X:{zEE:Re(azz+bz] a
qUT Re(b2” +az) = b} ¥ 3(aud &1 4@ ¢
Options :

3666949439,



3666949440, 1

3666949441, 2

3666949442, 2

Question Number : 4 Question Id : 3666943024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let P be a square matrix such that P‘=I-P. For a, B.y.0elN, if
P% + PP —yI -29P and P* - PP =51 -13P, then a+ f+7—& isequal to

Options:

3666949443, 'V

3666949444, ~

3666949445,

3666949446. 18

Question Number : 4 Question Id : 3666943024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



F P U i 31ogg ¢ fofid fad P2=1-P §l a, B, 7.6 N, & fou afe
P+ PP =yl -29P QUI P* -PF =51 -13P8, W a+ f+y -5 T &:

Options :
3666949443, 'V
24
3666949444,
29
3666949445,
3666949446, 1°

Question Number : 5 Question Id : 3666943025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For the system of equations

Xx+y+z=6

x+2y+az=10

x+3y+5z=#, which one of the following is NOT true?

Options:

System has a unique solution for @ =-3, f=14.
3666949447.

System has no solution for =3, f=24.
3666949448.

System has infinitely many solutions for e =3, §=14.
3666949449,



System has a unique solution for ¢ =3, § = 14.
3666949450.

Question Number : 5 Question Id : 3666943025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
YHiHuT (e

X+y+z=06
x+2y+az=10

x+3y+5z=p, ® U g T $F W HG 981 §?

Options :
266604044y C= "3 A=14 & fore it Fem &1 Sifgdim ga 8
a =3, =24 ¥ o gdiexu e oS sa A8 &
3666949448.
o =3, f=14 & fou giieru FHU & eFdgd &
3666949449,
s66coaoazn, 2=3 A4 & o aefteo frem &1 afgda ga @

Question Number : 6 Question Id : 3666943026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Among the statements:

(S1) : 202322 _1999?"% ig divisible by 8

(S2) : 13(13)" —11n-13 is divisible by 144 for infinitely many n e IN
Options :

3666949451. only (S1) is correct

R 2 18
3666949452, only (52) is correct

3666949453, both (51) and (S2) are incorrect

3666949454. both (S1) and (S2) are correct

Question Number : 6 Question Id : 3666943026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HYAT:
(S1) : 20232022 19992022 g { AU ®
(S2) : 13(13)" -11n-13 3Fd ne N & T 144 ATAUTT B
a9

Options :

3666040451, o0 (S WEIE

3666949452, o0 (52) W&

3666949453.



(S1) TYT (S2) a1 7Teid &

(S1) aYT (52) TR S &
3666949454,

Question Number : 7 Question Id : 3666943027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rd

11 11
: 7. g 1 - 1
If the coefficients of x7in | ax® + —1 and x™' in Lax — are equal,

3

2bx ) 3bx* )
then

Options :
3666949455, S2ab=729

¥ — T4
3666949456, ©1ab=243

243ab =64
3666949457.

T29ab =32
3666949458.

Question Number : 7 Question Id : 3666943027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: 11 e i 411
qﬁ[ux‘z++J o 7yl Lﬂx— 1.,

2bx 3bx” J

H 7 & TN R &, al




Options :

32ab=T29

3666949455,

3666949456, 01ab=243

243ab=64
3666949457.

T29ab =32

3666949458.

Question Number : 8 Question Id : 3666943028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All the letters of the word PUBLIC are written in all possible orders and these
words are written as in a dictionary with serial numbers. Then the serial

number of the word PUBLIC is

Options:

3666949459, O 10
3666949460, °'°
3666949461, "
3666949462,

Question Number : 8 Question Id : 3666943028 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PUBLIC ez & 9t 3i&rl &1 Wit Wva o ¥ forar oiraT § 9T 34 Usg] &1 Ueedhiy
& TR HH T & 1y forar <1 81 ol 23 PUBLIC F1 4 T ©:

Options :

3666949459, 210

|
=1
oo

3666949460.

3666949461. 650

3666949462. 952

Question Number : 9 Question Id : 3666943029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;rr %H Z 5 Tl |
lim | 2° -2 J[ﬂ‘—? J(_ 5" J} is equal to
=4 |t f

3666949463.

3666949464, U

1
3666949465. V2



V2

3666949466.

Question Number : 9 Question Id : 3666943029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

hni{[E%-—2%](2%-—E%J"""FE%-—EziT}} TR 2:

I —ht0 \
Options :

3666949463.

3666949464.

1
3666949465. V2

3666949466.

Question Number : 10 Question Id : 3666943030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ged (m, n) =1 and

12 92 4+ 8% —4% ... +(2021)" —(2022) +(2023)° =1012 m?n
then m?—n?® is equal to

Options:

240
3666949467.



3666949468, 220

3666949469, 20U

3666949470, 80

Question Number : 10 Question Id : 3666943030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gfe ged (m, n) = 18 Al
12 22 £ 82 _4% 4 ... +(2021)" —(2022)" +(2023)" =1012 m®n

%, dal m2 —n? W%:

Options:

3666949467.
3666949468.

3666949469,

3666949470, 180

Question Number : 11 Question Id : 3666943031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Let f(x) be a function satisfying f(x)+f(7-x)=x", vxe R.

Then If{x]sin.tdx is equal to
0

Options :
2%
3666949471.
x*
3666949472, !
z*
2
3666949473, ~
.rTz
3666949474,

Question Number : 11 Question Id : 3666943031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHI TP HBaA f(x) & oo ,I"[I]+f'[fr—x}=fr2, Yxe ﬂi%l Gl
Tf[x}sinxdx TR o
0

Options :

g
2T

3666949471.

| B

il
1

3666949472,



=
&

3666949473.

2]

3666949474.

Question Number : 12 Question Id : 3666943032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the solution curve f(x, ¥)=0 of the differential equation
(1+ [{Jgf,x]% -xlog, x =e”, x >0, passes through the points (1, 0) and (&, 2),
then a” is equal to

Options :

3666949475, ©
3666949476, °©

3666949477. ©

3666949478.

Question Number : 12 Question Id : 3666943032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gie 3fddd GHIH (1+ lug‘,x]% ~xlog,x=¢*, x>0, PIGAAD f(x, y)=0
Ly
fefgaii (1, 0) TUT (@, 2) A EPR T &, Ma® W &

Options :

3666949475, ©

Af2e”
3666949476, ©

o
2e
3666949477. ¢

=X

2e

3666949478, ©

Question Number : 13 Question Id : 3666943033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the tangents at the points P and Q on the circle x° + y° —2x + y =5 meet at

/ 3
the point RL % EJ, then the area of the triangle PQR is:

Options:
13
3666949479, °©
13

3666949480,

oo | em

3666949481.



- -
o | 1

3666949482.

Question Number : 13 Question Id : 3666943033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe g «% + 3% - 20+ y =5 & fdgafi p aur Q W W Y@Mt fofg R[%,z} R At
&, d BIYsl PQR &1 8% d ©:

Options :
13
3666949479, °©
13

3666949480, 4

3666949481, °

- -~
o | 1

3666949482,

Question Number : 14 Question Id : 3666943034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The area bounded by the curves y= |_x: - l| e |_t - 2! and y=213 is equal to



Options :

3666949483.

3666949484,

3666949485, ©

3666949486.

Question Number : 14 Question Id : 3666943034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
abl y=|x—1|+[x-2| U y=3 W UReEs &7 BT &% o

Options :

3666949483.

3666949484.

3666949485, °

3666949486.

Question Number : 15 Question Id : 3666943035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A plane P contains the line of intersection of the plane 7 -(r¢+_;+£‘-)=ﬂ and
r (31 + 3_;' - Lie) =-5. If P passes through the point (0, 2, =2), then the square of

distance of the point (12, 12, 18) from the plane P is

Options :

o
] |
o

3666949487.

3666949488, 510

620
36669494809.

1240
3666949490.

Question Number : 15 Question Id : 3666943035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
U% YA P H, GHAG! :'-.(f+j+;}) =6 TUT (20 +3] +4k)=-5 Bl YRS @I

Rl afep, g (0, 2, -2) AR ST E, o fdg (12, 12, 18) B! THI P 4 gl &1
Tl &

Options:
155

3666949487.

3666949488, 210

620
36669494809.



1240
3666949490.

Question Number : 16 Question Id : 3666943036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let the line L pass through the point (0, 1, 2), intersect the line
x-1 y-2 z-
i
distance of the point P(1, -9, 2) from the line L is

g and be parallel to the plane 2x+y-3z=4. Then the

Options :

3666949491, V94

3666949492,

3666949493.

3666949494,

Question Number : 16 Question Id : 3666943036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e L, g (0, 1, 2) @ o 8, Y : "f 2‘*aﬁa|aa°r%a~m
THAA 2x+y-32=4 & AR ¢l af fdg P, Qz}aﬁ%@nﬁgﬂ%

Options :



3666949491, Vo4

3666949492.

3666949493.

3666949494,

Question Number : 17 Question Id : 3666943037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The sum of all values of ¢, for which the points whose position vectors
are 1 -2j+ 3k, 25—3}+=I.’;. [u+1}f+2,’; and Elf+{fz—8}j +6k are coplanar, is

equal to

Options :

3666949495. ~

| 2]

3666949496.

3666949497.

i
3666949498,

Question Number : 17 Question Id : 3666943037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a & W A, ford foe Rufa wfesl @ -2+ 3k, 20 -3j+ 4k, (@ +1)i + 2k qUT
9 +(a~8)j+6k P g TgaWId &, BT I K ©:

Options:

3666949495.

3666949496, >

3666949497.

6
3666949498.

Question Number : 18 Question Id : 3666943038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the vectors @, b, ¢ represent three coterminous edges of a parallelopiped
of volume V. Then the volume of the parallelopiped, whose coterminous edges
are represented by a, b+¢ and a+2b+3¢ 1s equal to:

Options :

3666949499, Y

3666949500, 2V

3666949501. o



3666949502. .

Question Number : 18 Question Id : 3666943038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAT AW 6, b, ¢ 3MMUGH V & U YHidR YChas & Heraam! fBarl &f Heiud
W gl O I GHIR Wehd, fogd eaarl AR aifeml a4, b+¢ aul
G +2b + 3¢ U F5Ud 81d €, BT 3md TR &

Options:

3666949499.

3666949500.

3666949501. =

3666949502, ©V

Question Number : 19 Question Id : 3666943039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Three dice are rolled. If the probahility of getting different numbers on the
three dice is £, where p and g are co-prime, then g — p is equal to
Options :

3666949503,



3666949504, °

9
3666949505. ~

3666949506.

Question Number : 19 Question Id : 3666943039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dF U B o1 8 1 afe i Uil uR e e U A ot wifdddn 1_; € o8l p
aqUT ¢ SFEHTA §, dl g—p W &

Options:

3666949503.

3666949504.

]

3666949505.

3666949506.

Question Number : 20 Question Id : 3666943040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Among the statements

(S1): (p=q)v((~p)rq) is a tautology
(82): (g= p)=((~pr)~q)is a contradiction
Options :

only (S1) is True
3666949507.

only (52) 1s True
3666949508.

both (S1) and (S2) are True
36669495009.

1 b ¢ s 2 -.‘
3666949510, neither (81) and (52) is True

Question Number : 20 Question Id : 3666943040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYAm

(S1): {j]:ﬁ*@')\f{{“‘*p]hf}] m%
(52): (ga=p)=((~pr)rq) ICREIESES

k|
Options :
3666949507. (1) HE‘I%
Had (52) T &

3666949508.



3666949500, Sl (1) TUT (S2) I &

AASHAL (S2)TA T

3666949510.

Mathematics Section B
SectionId: 366694167
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694167
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 21 Question Id : 3666943041 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
For @, f,zeC and A =1, if sfA-1 is the radius of the circle

E —f)f|E +|2 —,t';’|2 =24, then |a - f] is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666943041 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a f,zeCTN 24>1F QAR |z-of +[z-p =22 BB Ja-1 8 @
la - B WE &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943042 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of 4-letter words, with or without meaning, each consisting of 2
vowels and 2 consonants, which can be formed from the letters of the word
UNIVERSE without repetition is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943042 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&T RIGRT & UNIVERSE g & 3&RT ¥ §FT o Y dlel 4 3R], foFH 2 W
Y1 2 o g, b gl a1 oddia wsal Ht e g _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943043 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
If (20) +2(21)(20)"* +3(21)*(20)"" +...+20(21)"? = £(20)"", then £ is equal
to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 23 Question Id : 3666943043 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

g (20) +2(21)(20)"° +3(21)*(20)' 7 +...+20(21)"" = £(20)"'%, A £ TR
e

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943044 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of points, where the curve }-‘=Iﬁ ~20x" +50x+2 crosses the
X-axis, 18

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943044 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



3 faigefl, el a® y =" - 202 +50x + 2,
x-31&f 1 Bl ¢, P G 3

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943045 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3
Let a curve y=f(x), x €(0, %) pass through the points F[L %W and Q[f:, %J

=
If the tangent at any point R(b, f(b)) to the given curve cuts the y-axis at the

point S(0, ¢) such that be=3, then {P?.’?T3 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943045 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



AU aF y = f(x), x e (0, ) fgal P|r1,i:—} qur Q(n,%] Y g oI 21 T

faq e o & fodfl ot fiig (b, /(b)) TR =i 3T y-31&1 B g S(o, ¢) W Hredl
§ OE® be=3, @A (PQ) WIRE _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943046 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

X

Let f(x)= .IEIR—{—IE,MEH,H::-E.

1

[1 +x" )”
1

If f" (x)=(fofof.....upto n times) (x), then lim -l._t‘“_z [f” [x]]dx is equal to

=pan
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943046 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

%,xem —-i=-1l,nelN,n>2 %l

(1 +x" )”

qM f(x)=

1 ;
gfe (1:) = (fofof..... n®R) (x) @ lim j'_t:”'z{f” {x})d:c W 8
0

Tl = O

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943047 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 4
o ) % : . !
Let the eccentricity of an ellipse —,J+J—,:1 is reciprocal to that of the

g b
hyperbola 2x° - 2}'2 =1. If the ellipse intersects the hyperbola at right angles,
then square of length of the latus-rectum of the ellipse is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943047 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT U Jiefga ﬁy{j’—j:laﬁw, SIIREAY 212 - 2y% =1 BT Ipal B
a” o0

JahH (reciprocal) %I gfe Eﬁﬁﬁﬁ HfdUaeg &1 dadd Hledl % G| Eﬁﬂﬁ Eal
iireid Sfar &1 dars o1 a8 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943048 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

If the lines xél 22 _; .20 and le = ‘};1 =£} intersect, then the
— x i i

magnitude of the minimum value of 8af is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943048 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



qﬁmﬁ- I;lzﬂ—_}'zz—g T x -'1:}’“"1:5 wmaﬁmga 8ap
2 -3 cx 5 2 i

& GAdH HE FT AT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943049 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the frequency distribution

X; 2 1 6 3 10 12 14 16

E

f 4 4 a 15 8 i 1

o

are 9 and 15.08 respectively, then the value of a’+ ,ﬁ'ﬁ —afl is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943049 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



x; 2 4 6 8 10 12 14 16

f; 4 4 a 15 8 i} 4 5

&P W1 YT UR0T HHD: 9 AUT 1508 8, dl & + % —af BIHAAE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943050 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The value of tan9° -tan27°=tan63° + tan 81° is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943050 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tan9® —tan 27° —tan63° + tan 81° HI HH %

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 31 Question Id : 3666943051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A 2 meter long scale with least count of 0.2 em 1s used to measure the
locations of objects on an optical bench. While measuring the focal length of a
convex lens, the object pin and the convex lens are placed at 80 cm mark and
1m mark, respectively. The image of the object pin on the other side of lens
coincides with image pin that is kept at 180 em mark. The % error in the
estimation of focal length 1s:

Options :

3666949521, -9l

3666949522, -89

J.?
3666949523. 10

3666949524,

Question Number : 31 Question Id : 3666943051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U USHIRId o R axg3ii &1 RUfd 3199 T 0.2 em SieqdHid & WY U 2 Hiek awd
T &1 Iudi fgl 11 81 Wi U Idd o &1 Bidd gdl Ao H, 9% U9 9
Jd a9 HHL: 80 cm @ 1 m & g W yd §1 axq = 1 wfafara o9 & gl ok
yfafera O 3 firedr @ afd 39 180 om 8 W @1 S| Widd gl &1 T0FT H %

£

Options :
3666949521, -9l

3666949522, -89



1}
3666949523. 1

3666949524, 11V

Question Number : 32 Question Id : 3666943052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As shown in the figure, a particle is moving with constant speed n m/s.
Considering its motion from A to B, the magnitude of the average velocity 1s:

Options:

3666949525.

3666949526, V3 M8

3666949527. L.53 m/s

l;r [ "y
3666949528, V3 mls

Question Number : 32 Question Id : 3666943052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



weidid o ®, U &1 a9 n my/s 9 71 SRl 81 fag A 9 8 9 @ Tiid & feg

9P 3Hd 371 BT YNHT
B
» A

Options :

3666949525.

3666949526, V5 ™/

3666049527, 1-OV3 m/s

-u_j [ 5
3666949528. 23 mls

Question Number : 33 Question Id : 3666943053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A particle starts with an initial velocity of 10.0 ms-! along x-direction and

accelerates uniformly at the rate of 2.0 ms—= The time taken by the particle
to reach the velocity of 60.0 msis

Options :

3666949529, ¢

3666949530, 298

3666949531, =08



3666949532.

Question Number : 33 Question Id : 3666943053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UH U 10.0 ms * b Uh YRS I A x-fa=n & sAfew i yRw™ el € aun
2.0 ms? P THHAM R F @R Bl &1 37 B 60.0 ms TH Ygd- H Ul g feran
T 9H g

Options:

3666949529, ©F

3666949530, 298

3666949531, ~US

ds
3666949532.

Question Number : 34 Question Id : 3666943054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A child of mass 5 kg is going round a merry-go-round that makes 1 rotation

in 3.14 5. The radius of the merry-go-round 1s 2 m. The centrifugal force on
the child will be

Options :

3666949533.



40 N

3666949534, 0N

3666949535, SO N

T
3666949536. Lo

Question Number : 34 Question Id : 3666943054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

5 {31 eI &1 Ueh &1 Uh el AT TiTel Tsh (AX1-TM1-313US) &1 bR Tl © S
3.14 s § U 9 QX a1 6| 39 71 9eb 1 BT 2 m g | 28 IR @ aTal S{Udhs
EﬁIEﬂTIT:

Options :

3666949533, 10N

3666949534. BN

3666949535. s

T
3666949536. Lo

Question Number : 35 Question Id : 3666943055 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement from the following:

Options :

When a body falls towards earth, the displacement of earth towards the

3666049537, P00y is negligible.

3666949538, The speed of satellite in a given circular orbit remains constant.

For a planet revolving around the sun in an elliptical orbit, the total

3666949539, CETEY of the planet remains constant.

The linear speed of a planet revolving around the sun remains

constant.
3666949540.

Question Number : 35 Question Id : 3666943055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRed 8 Taa sy 9T

Options :

3666949537, | U Uug @1 ok Gl &, gudl &1 fuvg &t SR fawimu= 47vg gar g

23666949538, % 41 715 JAIPR Sl § IWIE 31 91d Fad el ¢

¥ & ufd: Ud SigareR S J uReHu #3d §U e & T, U8 &1 $d Sl Had
3666949539, 801 ¢



3666949540, T P URE: ufemUn i B TT e B ¥eii e g vt ¢

Question Number : 36 Question Id : 3666943056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The weight of a body on the surface of the earth is 100 N. The gravitational force on it
when taken at a height  from the surface of earth _ equal to one-fourth the radius of the earth is:

Options :

3666949541, 25N

3666949542, 0N

3666949543, 04N

3666949544, teoH

Question Number : 36 Question Id : 3666943056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gl B Felg TR T U8 BT HR 100 N 81 5 W W J1el [EIbYUl 9, 5 ged]
®1 P51 & U HIY1E & RN TP HIE RATH R, 8:

Options :

3666949541, 25N



3666949542, 0N

3666949543, O4N

3666949544, teoH

Question Number : 37 Question Id : 3666943057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: When you squeeze one end of a tube to get toothpaste out
from the other end, Pascal’s principle is observed.

Reason R: A change in the pressure applied to an enclosed
incompressible fluid is transmitted undiminished to every
portion of the fluid and to the walls of its container.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options:

3666949545, Both A and R are correct and R is the correct explanation of A

3666949546, Both A and R are correct but R 158 NOT the correct explanation of A

3666949547, A 1s correct but R 1s not correct

A 1s not correct but R is correct
3666949548.



Question Number : 37 Question Id : 3666943057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R @ Y A8 1 B: U & SHTHSYA A TUT G B SRUIR 9 RIfRd o man g

HHFHYA A: TF Y S[F & U R Za1d ¢ o 59 guR R A ZUURE S8R 31l 89
URSd & &1 fidad gl 8

BNUIR: U g< AGIIST 59 W (R g | U yRad gd & Udd HIT Ud
a4 &1 31 FaRT &1 fom1 $7 fobd urmfi 81 9 g1

SWRIFd By & e #, 419 133 T fawedi 7 9 Faffds Iugad 3| T
Options :

3666949545, 7 R T HET § SR R, A P U1 RS &

3666949546, AT R G UE TR R, A BT UE TSN TR &

A YRl § W R U 6l &

3666949547.

ATEI T § R RUET @

3666949548.

Question Number : 38 Question Id : 3666943058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A body cools in 7 minutes from 60°C to 40°C. The temperature of the
surrounding 15 10°C. The temperature of the body after the next 7 minutes
will be:

Options :

3666949549.



28°C

3666949550, °U°C

-)'.I
3666949551. ank

A

3666949552,

Question Number : 38 Question Id : 3666943058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

7 foTe T us 9% 60° § 40° dP S8 gidl & | aIdTaRul &1 diadF 10°C 8|
3Tl 7 e H a%g &1 dI9HH SIT:

Options :

3666949549, 25 U

3666949550, 2U°C

3666949551.

34°C
3666949552,

Question Number : 39 Question Id : 3666943059 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The temperature of an ideal gas 1s increased from 200 K to 800 K. If r.m.s.
speed of gas at 200 K is v,. Then, r.m.s. speed of the gas at 800 K will be:

Options:
Vo
3666949553, !
2y,
3666949554,
3666949555,
l 'Ju
3666949556.

Question Number : 39 Question Id : 3666943059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A1 719 &1 a9 200 k F 800 k P Jedl ! Tl 200 K W T 1 aF 71 A
A1d v, & | 9, 800 K TR 1% &1 a¥l HIed | 91 gl

Options :
Vo
3666949553, !
2y,
3666949554,

3666949555,



dv
3666949556,

Question Number : 40 Question Id : 3666943060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The ratio of speed of sound in hydrogen gas to the speed of sound in oxygen
gas at the same temperature is:

Options :

3666949557, 11

3666949558.

3666949559.

3666949560.

Question Number : 40 Question Id : 3666943060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T dUHH R gereH 19 § @i $1 91d Ud SRfleH 79 § @ &1 95 @1
U &

Options :

3666949557, 11

152
3666949558. ;



3666949559, 1:14

3666949560, -

Question Number : 41 Question Id : 3666943061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For an amplitude modulated wave the minimum amphtude 1s 3 V, while the
modulation index is 60%. The maximum amplitude of the modulated wave 1s:

Options :

3666949561, ° V

3666949562, 10V

3666949563.

3666949564, 17V

Question Number : 41 Question Id : 3666943061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ud G HIGfed a1 & U gay 3am 3V 8, Jefd Hige Tolid 60% B!
HIgerd o¥v1 &1 Hftehan A B

Options :



sV

3666949561,

3666949562, 10V
3666949563 12V
3666949564, 10V

Question Number : 42 Question Id : 3666943062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Diffusion current in a p-n junction 1s greater than the drift
current in magnitude if the junction is forward biased.

Reason R: Diffusion current in a p-n junction is from the n-gide to the
p-side if the junction is forward biased.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options:

3666949565, Both A and R are correct and R is the correct explanation of A

3666949566, Both A and R are correct but R 158 NOT the correct explanation of A

3666949567, A is correct but R is not correct

A is not correct but R is correct
3666949568.



Question Number : 42 Question Id : 3666943062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
R QY A8 T B: UF 1 HIHSYA A YT G 6 SRR I R favar mn g

PIBYT A: T p-n A F AR 4R, 3uare yr1 ¥ 3 g & ol 9fF
yfefers €ra9 gl

BRUIR:  UD p-n YA H RO URT 0GB § p-dE B! 3R gt ¢ afe |
3ieie Iy gl

SRIFd Tyl & Fe #, - e M fawedl & 9§ Faiited Iuged IR 9T
Options :

3666049565, AT RGHI HEl € SR R, A DI UE! ATET

3666049566, AT R A el € U R, A DI Hel RS el ¢

AYE § R RUGI 761 B

3666949567.

ATE TE ¢ W R UL &

3666949568.

Question Number : 43 Question Id : 3666943063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A small particle of mass m moves in such a way that its potential energy

1 g . ; ; ;
U:Em @' r* where @ 1s constant and r is the distance of the particle from

origin. Assuming Bohr's quantization of momentum and circular orbit, the
radius of ntt orbit will be proportional to,

Options :



n

36669495609.

n:

3666949570.

3666949571. Vi

3666949572,

Question Number : 43 Question Id : 3666943063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
m GoIHE &1 Ud 121 &V 39 e U 7ifd &1 § [ sua! fRufaw et U:%m ot

SRl o Fdi® § 9 g g 3 $0 31 gl r §1 A7 &1 Siex HICHIHRO U9 e
bR HHSR, n df Hefl DI Bean 79 7 9 fad srsparurd grit:

Options :

[

36669495609.

ne

3666949570.

3666949571. Vi

3666949572, "

Question Number : 44 Question Id : 3666943064 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The work functions of Aluminium and Gold are 4.1 eV and and 5.1 eV
respectively. The ratio of the slope of the stopping potential versus frequency
plot for Gold to that of Aluminium is

Options :

3666949573.

3666949574, !

3666949575.

| Bl

3666949576.

Question Number : 44 Question Id : 3666943064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG U4 T &1 SR HH: 4.1 evd 5.1 ev g | GHT 7Y TegiHfam & fore
R fava Tyt eirgfa & ota vqurashi &1 S 8

Options:
3666949573, 1-24

3666949574, 1

3666949575, 0



3666949576, >

Question Number : 45 Question Id : 3666943065 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: The phase difference of two light waves change if they travel
through different media having same thickness, but
different indices of refraction.

Reason R: The wavelengths of waves are different in different media.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options :
3666949577, Both A and R are correct and R 1s the correct explanation of A
3666949578, Both A and R are correct but R is NOT the correct explanation of A

3666949579. A is correct but R is not correct

A is not correct but R is correct
3666949580.

Question Number : 45 Question Id : 3666943065 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1 3 By 38 T §: TP B SHNHYA A TUT TR D HRUIR Y RARd fbmmar g

HHYT A T TS TN &1 HaR IRAGd el § dfe § G Hiers R’
S-S SUdcHID & faii= AT 9 el &

HRUR: T B TS SAT- (ST HITH] § 3-8t |
SWRIFd HUAl & g 7, A fed M fadwed! # 9 Haiids Iugad 3w T

Options :

3666049577 ARG WEI € SR R, ADI UEI L B

3666949578, AT R UEl € U R, A Bl T SRS el ©

AUE 8 W R UG8l ©

3666949579.

AR T8l ¢ W RUEI §

3666949580.

Question Number : 46 Question Id : 3666943066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy density associated with electrie field E and magnetic field B of
an electromagnetic wave in free space is given by (g,— permittivity of free

space, u,— permeability of free space)
Options :

E* B

T .o j -
I.-'j._l —_‘ % IJB 2

Ei]
3666949581.

E <
3666949582. 2 2



. E* 2 13
Iz'}_- ::—, I.-'H = —

= 3.'““
3666949583.
PR R | i
Ug=—7—, Uy S
3666949584,

Question Number : 46 Question Id : 3666943066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o 1Y H U faegagrad i aivl & f[dgyd &7 E 9yl Taaid &7 B 9 rafid
Sl 9@ 31 T B (e, HA NP B fagganfiad, p, da b D
BT

Options:
U}. = f _ I"'Tfs = ﬁ”f _
E“ s
3666949581.
Ug = E”f L ,Ug = "ﬂii.?_
3666949582. = e
3 E- < B
Up=5— Us=3
0 P73
3666949583.
e, E° B*
= 5 ,Iﬂ_zﬁ
3666949584,

Question Number : 47 Question Id : 3666943067 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A capacitor of capacitance 150.0 uF is connected to an alternating source of

emf given by E=36 sin(120xt) V. The maximum value of current in the circuit
is approximately equal to :

Options :

3666949585, V24

3666049586, 224

3666949587. V2

3666949588.

Question Number : 47 Question Id : 3666943067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

150.0 pF TR &1 U GUTRA P U W did 4 sitel & o1 faggd aes 7d
E=36 sin(1207t) V & | URGY H 4RT FT SM&HaTH AF TTHT TR &

Options :

3666949585, V24

3666049586, 224

f-ﬂ

3666949587.



3666949588, >

Question Number : 48 Question Id : 3666943068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A student is provided with a variable voltage source V, a test resistor
R, =102, two identical galvanometers G, and G, and two additional

resistors, R, =10M12 and R, =0.001£2. For conducting an experiment to verify
ohm's law, the most suitable circuit is:

Options :
R,
R, py R,
| =
_',T"I
3666949589. ¥
R,
R, g R,
| =
_,..rr
3666949590. v

3666949591.



3666949592.

Question Number : 48 Question Id : 3666943068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U% B3 &I Uh URGd! dices Wid v & T1Y U Y& UiRIY Ry = 100, & THEHME
YR 6, d 6, A1 &1 ifafad ufeRlY B, =10M2 9 R, =0.0012 RA T §| s &

[T & T &1 R $34 & foe waiite Juged ukuy §:

Options :
R,
R, py R,
| =
_',T"I
3666949589. »

3666949590.



e
3666949591, v
R,
R, | el |
R,
e
'1'{."

3666949592.

Question Number : 49 Question Id : 3666943069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Figure shows a part of an electric circuit. The potentials at points a, b and ¢
are 30V, 12 V and 2 V respectively. The current through the 20 Q resistor
will be,

My D
| 20 Q)
A, AV
100
MM
30 Q ¢
Options :
3666949593, 024
3666949594, U-6A
3666949595, 044
1.0 A
3666949596,

Question Number : 49 Question Id : 3666943069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us faggd oy & us Wi &1 oz § gifan w1 81 g o, b 9l ¢ W fava Ha:
30v, 12v T 2v g1 200 UfcRTY H S8 aTell 4RI gRi:

AV b
20 Q

W

%

10 ©

30 Q c
Options :

3666949593, 024



3666949594, U-6A

3666949595, 044

1.0
3666949596.

Question Number : 50 Question Id : 3666943070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A dipole comprises of two charged particles of identical magnitude g and
opposite in nature. The mass ‘m’ of the positive charged particle is half of the
mass of the negative charged particle. The two charges are separated by a
distance ‘T. If the dipole is placed in a uniform electric field ‘E *; in such a way
that dipole axis makes a very small angle with the electric field, ‘E’. The
angular frequency of the oscillations of the dipole when released is given by:

Options :

igE

3ml
3666949597.

BgE

Sml
3666949598.

4qgE
3666949599, ¥

o ]
E)
e

ml

3666949600.



Question Number : 50 Question Id : 3666943070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

% fg4d, THUAM q URAm qy1 fqula Usfa & 3 Sdfa ol | &1 gl &
YA HUI BT GHI m, BUIAIRIT HU BT YT 3| GFT HA Th R A T W
R €1 3 fsa vHuaH fdgga & £ 3 39 YR 391 141 ¢ & Gy, dega 8 e ¥
Ueh Y& B0 S 31 Sla &1 BIvig (rgf g

Options :
igE
Iml
3666949597.
SeE
aml
3666949598.

4qE
3666949599, ¥

’SqE
3666949600, ' !

Physics Section B

Section Id : 366694169
Section Number : 4

Section type : Online
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Number of Questions to be attempted : 5



Section Marks : 20

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694169
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 51 Question Id : 3666943071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A body is dropped on ground from a height *h ° and after hitting the ground,
it rebounds to a height “h,". If the ratio of velocities of the body just before
and after hitting ground is 4, then percentage loss in kinetic energy of the
body 1s f The value of x1s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666943071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U fOU8 &1 ‘hy HaTs 9 SRl R TREIS1A1 8, 3R Rl ¥ hH $ 918 T hy, Hdls
% J&adl ¢l Ife 4xdll | e & 3l Id Ud 918 fUvs & 7 &1 S urd 4 §, ol

ﬁmﬁwﬁaﬁﬁuﬁmaﬁf%umnﬁ gl

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943072 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A ring and a solid sphere rotating about an axis passing through their
centers have same radii of gyration. The axis of rotation is perpendicular to

plane of ring. The ratio of radius of ring to that of sphere is E The value of
xis -

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943072 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 9 YuiF FBIs1 &1 Us Sedl Ud U 319 Tl 304 Sl § R4 drdl & &
qRd: YU 71 FR T2 B1 Hewl B U 348 $HD dd P TdEad ol Tedl B A B

lﬂﬁﬁﬁw$mum§qmﬁé|xﬂuﬁ gl

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943073 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A metal block of mass m is suspended from a rigid support through a metal
wire of diameter 14 mm. The tensile stress developed in the wire under
equilibrium state is 7x10° Nm™. The value of mass m is ke.

{THkE‘, g= 9 8 ms=2 Hﬂd T :%}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943073 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

m GO0HM &1 U& UTd H1 T[CH1 14 mm AN & TS U & dR GRI S €3 SR §
el o | rraR] &1 fRyfa & aR § a=0d1 ufdad 7 x 105Nm=2 §1 SeIHH m &1 HF

kg%dﬁﬂT%:g:ﬂ.EmS'zH‘lﬂn :%}I
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943074 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Two coneentric circular coils with radii 1 em and 1000 em, and number of
turns 10 and 200 respectively are placed coaxially with centers coinciding.
The mutual inductance of this arrangement will be % 1= H:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943074 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 cm TUT 1000 cm BISATST a1 T3 @ AT HHL: 10 TYUT 200 B &l =419 FAHR
PUSTERI B 37D Bl B! MAeTHR Fe-31&fig T/ 71 81 39 AR $T S IR0
x 1078H BT |

@fe, 72 = 10 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 55 Question Id : 3666943075 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A beam of light consisting of two wavelengths 7000 A and 5500 A is used to
obtain interference pattern in Young's double slit experiment. The distance
between the slits is 2.5 mm and the distance between the plane of slits and
the screen 15 150 em. The least distance from the central fringe, where the

bright fringes due to both the wavelengths coincide, is nx10"m. The value of
n1is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943075 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 fgferdl vanT # egfaeeur Te U @A & 1w 7000 A Ud 5500 A &1 & aG e
&1 Ueh YT Yol foran a1 g | iR & g &1 gt 2.5 mm a1 RIRGT & aa 4 o a0
@1 gdl 150 em & | 514 =01 ¥ 98 AaH g, O8! el avieH & HRUI W [l
A, nx10°m Bl n I HAA gl

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 56 Question Id : 3666943076 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Experimentally it is found that 128 eV energy is required to
separate a hydrogen atom into a proton and an electron. So the

orbital radius of the electron in a hydrogen atom is E:~c1(l"“]m.
X
The value of the xis:

1

dre,

(1 oV = 18x10"4, =9x10°Nm*/C* and electronic charge =1.6x10""C)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666943076 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ui 9 ¥ T8 UK 8idT § 6 U g13gioi URHIY] &1 Ud UieH d U Saiaei= o
3T XA & foTT 12.8 eV Foll B! HATAHA Bl & | U BIS I YA H geide

& peffg B 2x10m ¥ xBAAE

x
1

dre,

(1 eV = 1.6x10™J, —9x10°Nm¥C* Ud FadeH &1 3% =1.6 x10C)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666943077 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A proton with a kinetic energy of 2.0 eV moves into a region of uniform

magnetic field of magnitude %xlﬂ':5 T. The angle between the direction of

magnetic field and velocity of proton is 60°. The pitch of the helical path
taken by the proton is cm. (Take, mass of proton = 1.6 x 1027 kg and
Charge on proton = 1.6 x 10-12 ).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666943077 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
2.0 eV 7T Sl 4 U Ui gxm"-“r URHTU & UHHH THY &5 & IR |

T BT & | JraIbid & P 30 Td WelH & a1 S oI &1 B0 60° g1 WelH gRIdd
fobd) T8 Belfiore Uy B firg em @ (R B, T 1 S&0HM = 1.6 x 107 ke
U4 Ulei- &1 3M1d = 1.6 x 1019 ()

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943078 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As shown in the figure, the voltmeter reads 2 V across 5 Q resistor. The
resistance of the voltmeter is Q.

%ﬁ!l W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943078 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



veRfd i # 5 0 UfcRiy & U7d diceHieX &1 2 V UIBTi® gl diceHie? &1 Uiawiy
nel

FATAVATAN
20

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943079 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

As shown in the figure, two parallel plate capacitors having equal plate area
of 200 em? are joined in such a way that a 2 b. The equivalent capacitance of
the combination is x , . The value of x is

] a

c=1mm d=5mm

I 1o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 59 Question Id : 3666943079 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

vefid ol §, 200 cm? 9% W ®1 U GHM UeST & of GHIR @ GHIRE 39 TR
TS e a=b | UIGHA B I YR x e, F 81 x BT HA g

: L

¢c=1mm d=5mm

' " 1b
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Evaluation Required For SA: Yes
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Answers Type : Equal

Text Areas : PlainText
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10

Question Number : 60 Question Id : 3666943080 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A simple pendulum with length 100 em and bob of mass 250 g is executing
S.H.M. of amplitude 10 em. The maximum tension in the string 1s found to be

& N. The value of x is
40

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666943080 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

100 cm TS 9 250 g GEAHM & Ta® & T1Y U WA Aldd 10 cm ST i TA
3Tad 7T FAT & | SR H Sferan a1d - N U 81d1 81 x &1 AF =

40
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Question Number : 61 Question Id : 3666943081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of 0.02 M agueous HBr required to neutralize 10.0 mL of 0.01 M
aqueous Ba(OH): is (Assume complete neutralization)

Options :

3666949611, 20 mbL

3666949612, -0 mL

3666949613, 0 ML

3666949614, 10-0mL

Question Number : 61 Question Id : 3666943081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0.01 M ST Ba(OH): & 10.0 mL 1 IR HIA & oU 3199 0.02 m Sldg
HBr @1 T gl

Options :

3666949611.



25 mL

3666949612, -0 ml

3666949613, -0 ML

3666949614, 10-0mL

Question Number : 62 Question Id : 3666943082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the radius of the first orbit of hydrogen atom is @ , then de Broglie's

wavelength of electron in 3 orbit 15
Options:

3666949615, ¢

bra
3666949616.

3666949617, -

3666949618.

Question Number : 62 Question Id : 3666943082 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qfe gIggiol UTHIY & UUH B4 &I AT ¢ g1 dl 3 Y Hafl # gelae &1 ¢ sl
auTeH §-

Options :

3666949615,

bra
3666949616.

3666949617, -

3666949618.

Question Number : 63 Question Id : 3666943083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following reaction that goes from A to B in three steps as shown
below:

.

!

Energy

Step Step Step B
| [ 111

W

Reaction Coordinate —

Choose the correct option

Number of Number of Activated Rate
intermediates complexes determining
step
Options :
3666949619, 2 3 11
3666949620, > 3 m
3666949621, ° 2 II
2 3 I
3666949622.

Question Number : 63 Question Id : 3666943083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Frafatad sififar ad s 7 =Roil 7 g1t § S 6 = welia fbarmn g

N

1

3l A
4 ag L[4 13
| 11 111
fifpar fAcaig ——
el faded g
HeAar &t faaa Sl a1 AR ug
= & &I
Options :
3666949619, 2 3 I
3666949620, 2 3 I
3666949621, ° 2 I
2 3 I
3666949622.

Question Number : 64 Question Id : 3666943084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following elements will remain as liquid inside pure boiling
water?

Options:

3666949623,



3666949624, %

3666949625, °°

3666949626 L

Question Number : 64 Question Id : 3666943084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g5 I9dd Ul # Fafaiad § 9 &9 91 ad g9 & $9 | e

Options :

3666949623,

o

3666949624, 3

3666949625, O

3666949626, LT

Question Number : 65 Question Id : 3666943085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product, which is not obtained during the electrolysis of brine solution 1s



Options :

3666949627, 2

3666949628. -

3666949629. Het

3666949630, NaOH

Question Number : 65 Question Id : 3666943085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
I, Slife sz § fdgyd fazawur & ERM 78T und giar 81
Options :

3666949627,

3666949628. -

3666949629. el

3666949630, NaOH

Question Number : 66 Question Id : 3666943086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Structures of BeCl: in solid state, vapour phase and at very high temperature
respectively are:

Options :
3666949631, Dimerie, Polymeric, Monomeric
3666949632. Polymeric, Dimeric, Monomeric

3666949633, Polymeric, Monomeric, Dimeric

3666949634, Monomeric, Dimerie, Polyvmeric

Question Number : 66 Question Id : 3666943086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

BeCl, 1 UXEHI 310 fa®IT H, ar ARy # 3R I d1Y IR HH: §

Options :
3666949631, EOPl TEUPL THAD]
3666049632, BT, [Tl THT!
2666040633, T8O, TP, e

. Thad], fGhdad!, dagas!

3666949634



Question Number : 67 Question Id : 3666943087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ion having highest hydration enthalpy among the given alkaline earth metal
1018 18

Options :

3666949635, D¢

3666949636, &

Sr2+

3666949637.

Baz+
3666949638.

Question Number : 67 Question Id : 3666943087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
{32 T &R geT urg Sl H Iwan sadied TR 8

Options:
3666949635, D¢

3666949636, A



Sr2+

3666949637.

2+

3666949638.

Question Number : 68 Question Id : 3666943088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Group-13 elements react with O: in amorphous form to form oxides of type
M:0s (M = element). Which among the following is the most basic oxide?

Options:

3666949639.

3666949640.

GFL-;G:;
3666949641.

3666949642, Tl03

Question Number : 68 Question Id : 3666943088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 13 &1 a Sifeheedd ¥4 A 0, ¥ U HLH M,0: (M = dd) UHR HI
ffeargs aar 8| Fafefaa o ued e &Ry siieuss 82

Options :



3666949639.

3666949640.

G.‘-l-_zﬂ:;
3666949641.

3666949642, Tl:03

Question Number : 69 Question Id : 3666943089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

During the reaction of permanganate with thiosulphate, the change in
oxidation of manganese occurs by value of 3. Identify which of the below
medium will favour the reaction.

Options :

3666040643, 2aueous neutral

agqueous acidic
3666949644.

both aqueous acidic and faintly alkaline
3666949645.

both aqueous acidic and neutral
3666949646.

Question Number : 69 Question Id : 3666943089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WRHIE &1 Yraehe ¥ fHfehar & SR Hieiid & seiieu § 3 AF &1 uiada
g1 81 A 3l w1 &) ug=aH & & ifiufsran 7 wgras grml

Options :
3666949643.
STeiy 3ty
3666949644.
3666949645. e Sl SR Eebl & el
oIty Sl SR FerdA aH
3666949646.

Question Number : 70 Question Id : 3666943090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hiven below are two statements: one is labelled as “Assertion A" and the
other is labelled as “Reason R”

Assertion A: In the complex Ni(CO); and Fe(CO);, the metals have zero
oxidation state.

Reason R: Low oxidation states are found when a complex has ligands
capable of 7-donor character in addition to the o -bonding.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options :

3666949647 Both A and R are correct and R is the correct explanation of A



3666949648, Both A and R are correct but R 15 NOT the correct explanation of A

A 15 correct but R 1s not correct
3666949649.

3666949650. A is not correct but R is correct

Question Number : 70 Question Id : 3666943090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 S Py el T §: U DI HUHYU A 3R g8 B BRI R Hfdba a1 T 8|

HHY A: Pl Ni(CO)4 3R Fe(CO)s H UTgafl i sfTaRfianur siawa1 I3
eIl 81

BRUIR: [ B0 a1 dd giddl & oid I A feTs o Sfidy &
YY1t G B &1 01 TG 5 |

IURIE PYAl F 3MUR R 1 37 7 faheul # ¥ gay Ifd I &1 g4
Options:

2666040647, ST RET T 8 SR R, A BT HEl SR B3 €

3666049648, A SR R QI U & UR R, A 1 el TG el Bl &

AHU g IR R 39d B
3666949649.

A 3¥d 8 IR REA B
3666949650.



Question Number : 71 Question Id : 3666943091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
The group of chemicals used as pesticide 15

Options :

3666949651 Dieldrin, Sodium arsinite, Tetrachloroethene

Sodium chlorate, DDT, PAN
3666949652.

DDT, Aldrin
3666949653.

Aldrin, Sodium chlorate, Sodium arsinite
3666949654.

Question Number : 71 Question Id : 3666943091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Uresmeit & foe Iudn g1 ard I[|aHl &1 998 &

Options :

grelce A, MIfSTH e, SeaqaRua-
3666949651. e

HIFSTH FIRE, DDT, PAN
3666949652,

3666949653, PP TR



3666949654, TegiF, WiEaH ke, WigaH e

Question Number : 72 Question Id : 3666943092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The IUPAC name of Ks[Co(C204)s] 1s:-

Options :

3666949655, Potassium tris(oxalato)cobalt(I1I)

3666949656. Potassium tris(oxalato)eobaltate(11I)

3666949657, Potassium trioxalatocobalt(Il)

Potassium trioxalatocobaltate(11I)
3666949658.

Question Number : 72 Question Id : 3666943092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Ki[Co(C204)3] BT IUPAC ATH &-

Options:

greRrmw e (sifaicien diaree (i)
3666949655.



3666949656, ety fow (sfiade)daree (i)

iRy e siiaidel diae(n)
3666949657.

KE S NEEAL G
3666049658, TTCTIH T (111)

Question Number : 73 Question Id : 3666943093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Formation of which complex, among the following, is not a confirmatory test
o4 -
of Pb™" ions

Options :

lead chromate
3666949659.

3666949660, \¢2d sulphate

3666949667, (cad iodide

lead nitrate
3666949662.

Question Number : 73 Question Id : 3666943093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Frofafaa 7 ¥ feg dea &1 71 Ph2* el &1 g ufvemr T8t @
Options :

3666949659, TS PIHC

3666949660. s

W3 SIS

3666949661.

ds Agee

3666949662. 2

Question Number : 74 Question Id : 3666943094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Element not present in Nessler's reagent 1s

Options :

3666949663,
Hg

3666949664.

3666949665.

3666949666.



Question Number : 74 Question Id : 3666943094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ad 9w e He # Ul 8 &

Options :

3666949663.
3666949664.

3666949665.

3666949666.

Question Number : 75 Question Id : 3666943095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following reaction, ‘B’ is

H,O* )
—> ‘B
major

OH

Options :

3666949667.



81

3666949668.
36669496609.

3666949670.

Question Number : 75 Question Id : 3666943095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafefaa siwfear 7 e 8-

H,07 .
—_— B
major

OTH

Options :

3666949667.

Q™
3666949668.

3666949669.



0

3666949670.

Question Number : 76 Question Id : 3666943096 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the figure of column chromatography given below, identify incorrect
statements.

ke o

¥
=

\

A Compound ‘¢’ 1s more polar than ‘a’ and b’

B. Compound ‘a’ is least polar

4 Compound ‘b’ comes out of the column before ‘¢’ and after ‘a’
1, Compound ‘a’ spends more time in the column

Choose the correct answer from the options given below:
Options :

B, C and D only
3666949671.

A, B and C only
3666949672.



3666949673, D andDonly

A, B and D only
3666949674.

Question Number : 76 Question Id : 3666943096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4 fod 78 wian auferaa ¥ s/ YT B UgaH
™ -~

> b

\

A i ¢ A ‘2’ SR b’ & 1T 4dia 8

B. TIN® ‘o Tad &1 Ydid g

c. AP b PIAF ¢ U8 3R ‘2’ $ 918 FPpadi g
D. I ‘a’ BieTH H SUIET WHY SAcId Bl §

A &0 8 e el 7 1 Wel IO &l g4

Options:

3666049671, P18, CIRD

3666049672, PAUAB 3R C

3666949673.



$ad B 3R D

Fad A, B3R D
3666949674,

Question Number : 77 Question Id : 3666943097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the major product from the following reaction.

8]
1) MeMgBr/Cul "

2y nPrl
Options :
HO Me
3666949675.
)
Me
3666949676. Me
)
3666949677. Me

3666949678.



Me
\HJfEiji<:whl
Me

Question Number : 77 Question Id : 3666943097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

FrafafEd sififerar # v Sare & @i |

8]

1) MeMgBr/Cul
2) nPrl i

Options :

HO Me

3666949675.

()
\/‘\é<r,ﬂ{1
Me

0]

M

3666949677. .

Me
\/6<ME1
Me

3666949678.

3666949676.



Question Number : 78 Question Id : 3666943098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The strongest acid from the following is

Options:
OH
@N{ )
3666949679.
OH
i ~Cl
3666949680.
OH
@\{tl I,
3666949681.
OH
3666949682.

Question Number : 78 Question Id : 3666943098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgferiad & ¥ ugdaaH srd §



Options :

oy
e
o

NOs
3666949679.

=
e
p—
o
foolicr

3666949680.

]
e
—

3666949681. i

OH

3666949682.

Question Number : 79 Question Id : 3666943099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

List I List I1

Natural Amino acid | One Letter Code

(A) Arginine (D D
(B) Aspartic acid (I N
(C) Asparagine (III) A
(D) Alanine (IV) R

Choose the correct answer from the options given below:



Options :

3666949683, N — 1V, (B) - L, (C) - 11, (D) - 111

3666949684, W —IIL (B) ~ L (C) ~ 1L (D) — IV

3666949685, W 1L B ~IIL (O -1V, (D) - I

3666949686, Y~ V. (B)~L (C)-IIL, (D) - II

Question Number : 79 Question Id : 3666943099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 0@ guied &Y

i -1 uiepferep THIAT s Tl - 11 U AER BIS
A. G{W l. D

B. UWfde 3d . N

c. UERMH m. A

p.  UaA V. R

I fea 7 faswedi 3 9 U IR B g4

Options :

3666949683, N~ 1V, (B) - L (C) - 11, (D) - 111

3666949684, N — 1L (B) ~ L (C) ~ 1L (D) - IV



3666949685, WV~ L (B ~1L(O) -1V, (D) -1

3666949686, Y ~IV. B) ~L () -, (D) - II

Question Number : 80 Question Id : 3666943100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Morphine is a narcotic analgesic. It helps in relieving pain
without producing sleep.

Statement II: Morphine and its derivatives are obtained from opium
POppY.

In the light of the above statements, choose the correet answer from the
options given below

Options:

3666949687, Both Statement I and Statement Il are true

3666949688. Both Statement [ and Statement I are false

3666949689, Statement [ is true but Statement 11 is false

3666949690, Statement [ is false but Statement I is true

Question Number : 80 Question Id : 3666943100 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
RAHERAME:

HY 1 HIEH U WU UISeRt 8 U8 fomr -ie @ dist @ gfdd 3d 31
HY 11: BB 3R 39S ged SNty didt § v 81 81

R el T Syl & YR WA 6l T fawet | 4 gl I & A

Options:

YT IR FYF 1 G I &
3666949687.

HY 1 SR HYUA 1 ST A §
3666949688. 2 ¢

HYF 1 I R DY 1 AT &
3666949689.

DY | 3G AR HYH 1 9 ¢
3666949690.

Chemistry Section B

Section Id : 366694171
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 366694171
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 3666943101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number of erystal systems from the following where body centred unit cell
can be found, 1s

Cubie, tetragonal, orthorhombie, hexagonal, rhombohedral, monoclinic,
triclinic

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafad ® 9 fobwea di & T & Wel W 3id: Hfad U SIS
urdl 1wt § O, fgaAdans, faundans, weoiolig, Bradade, thAaa,
[ECGIE

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943102 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of species having a square planar shape from the following is

XeF,, SF4, 5iF,, BF, , BrF, , [Cu(NHa)4]2*, [FeCl4]%, [PtClLi]*

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943102 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fFrofeifed o 9 avf yrde sreR ard sl 1 de 4

XeF,, SF4, SiF4, BF, , BrF, , [Cu(NHa)4]%*, [FeCli]%, [PtCl4]*

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 83 Question Id : 3666943103 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Consider the following data

Heat of combustion of Hz(g) —241.8 kJ mol-!
Heat of combustion of C(s) = -=393.5 kJ mol-?
Heat of combustion of C:H;OH(l) = -1234.7 kJ mol-!

The heat of formation of C:H;OH(l) is (-) kd mol-! (Nearest
integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943103 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeed sffiesi e §

Ha(g) ®1 &8 &I = —241.8 kJ mol-!

C(s) Bl &84 F™T = —393.5 kJ mol-!
C.H;0H(1) ®1 389 HT = ~1234.7 kJ mol-!

C:H;0HQ) &1 3= 381 () kJ mol-! 81 (Adead quiie)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943104 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following pairs of solution which will be isotonic at the same
temperature. The number of pairs of solutions is / are

A 1M aq. NaCl and 2 M aq. urea

1M aq. CaCl; and 1.5 M aq. KC1
i 1.5 M aq. AlCl; and 2 M aq. NazSOq
D. 2.5 M aq. KCl and 1 M aq. Al2(SO4)3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943104 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeifed faea el %1 e & SifE THH a1g R §ARER 8
A 1M STei Nacl 3R 2m STeiid gial
B. 1M U@ CaCly 3R 1.5M STelid Kl
C. 1.5M STeiRI AlCls 3R 2M STETT NazSO4
D. 2.5M ST KCI 3T 1M STEd Aly(SOy)s

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943105 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The equilibrium composition for the reaction PCls + Cl: = PCl; at 298 K is
given below:

[PClseq = 0.2 mol L1, [Cly] oq = 0.1 mol L, [PCls]ey = 0.40 mol L1

If 0.2 mol of Cl: 18 added at the same temperature, the equilibrium
concentrations of PCl; is % 10-2 mol L1

siven: K. for the reaction at 298 K is 20

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943105 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



298 K A9 W 3{HHAT PCL; + Cl: = PCl; T IigaR] 9P
A &g %:
[PCls]leq = 0.2 mol L1, [Cl2] eg = 0.1 mol L1, [PCls]leq = 0.40 mol L2

e A 19 W1 ¢, B 0.2 Al STl d AIaRIT W pcls B Tsdl
x 10-2 mol L1 8111 |

fea a1 8: 298 k A9 W 3if¥fehar &1 K. 20 81

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943106 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The standard reduction potentials at 298 K for the following half cells are
given below:

NO; +4H" +3e- - NO(g)+2H,0 E°=0.97V

V¥*(aq)+2 -V E°=-1.19V
Fe* (aq)+3e” — Fe E*=-0.04V
Ag'(ag)+e — Ag(s) E*=0.80V
Au”(aq) +3e = Au(s) E'=1.40V

The number of metal(s) which will be oxidized by NO, in aqueous solution
18

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 86 Question Id : 3666943106 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
298 k a9 R FAofafag s A& &1 A saayq favg 9= fear man g

NO; +4H' +3¢” > NO(@+2H,0 E’=0.97V

V¥(ag)+2e -V E°=-1.19V
Fe* (aq)+ 3¢~ — Fe E° =—0.04 V
Ag'(ag)+e — Ag(s) E'=0.80V
Au™(aq) + 3e — Au(s) E°=1.40V

Wieitg fdea- | No, gRT SfiRfidd urd/ardaii &t dwe gty

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943107 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of colloidal systems from the following, which will have ‘liquid’
as the dispersion medium, 1s

Gem stones, paints, smoke, cheese, milk, hair cream, insecticide sprays,
froth, soap lather

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943107 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Foffed @ sacsldai sl e 8 forsd oo wrey ga g 3
TR, Wiy, Y311, TR, g8/, a1ai &1 B, BicAId B, B, §igd & IHT
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943108 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

In an ice crystal, each water molecule is hydrogen bonded to
neighbouring molecules.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 88 Question Id : 3666943108 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
9% fobeed H Ud® o 3] 304 TS SULef | B3I SHTaH T 8|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943109 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among the following, the number of compounds which will give positive
iodoform reaction is

(a) 1-Phenylbutan-2-one
(b) 2-Methylbutan-2-ol
(c) 3-Methylbutan-2-ol
(d) 1-Phenylethanol
(e)  3,3-dimethylbutan-2-one
H 1-Phenylpropan-2-ol
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10



Question Number : 89 Question Id : 3666943109 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad ® @ yarers SmarSier sififear &3 ara diffel ot G 2l

(A)  1- T - 2- 34

(B) 2- AlUASYCA- 2- 3Td

(C) 3-AlUdsgeH - 2- 3ffd

(D) 1- BHETTYATA

(E) 3,3- SIEARAEH - 2- 34
(F) 1- AU - 2- 3ffd

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666943110 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Number of isomeric aromatic amines with molecular formula CgH;;N, which
can be synthesized by Gabriel Phthalimide synthesis is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 90 Question Id : 3666943110 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UIEAS FF CsHuN & FaEgd QQafes Ui sl g 8 o Afsad
ARAISS HYAWU ¥ Y<aftid fban o w8

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



